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anticipation of
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Randomization

Design X Most useful when Advantages Disadvantages
determines
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First stage: o There are significant o There are significant o

Two-Stage Randomization

o Which clusters
receives (which)
treatment(s) and
which clusters are
control

o Unit keeps
treatment status
throughout the
evaluation

Second stage

o Which individuals
within a treated
unit receive direct
treatment

o Which individuals
within a treatment
village will not be
directly treated,
but may receive
indirect benefits
from having
treated neighbors

spillovers or
crossovers within a
cluster.

o Treating all
individuals within a
cluster is not feasible

o The implementing
organization is trying
to cut costs

spillovers.

o Itis valuable to learn
not just the direct
treatment effect, but
also indirect effects.

o If it is important to
varying intensity




